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Instructions: 1)  Allquestions are compulsory.
2) Figures to the right indicate full marks.
@
Q1) Complete the following sentences by choosing correct alternative : [10]
a) low productivity is the main cause of Indian economy.
i)  Storage System i) Mechinary
i) Marketing iv) All above
b) Population size of Land holding is low.
i)  stagent ' ii) increase
i) decrease - iv) none of these
¢) Service sectors development is depend upon
i)  Industrialization i) Agricultural sector
o iii) Trade iv) Allabove
d) Foreign Direct Investment permitted % in the Industrial Policy
1991. .
) 50 i) 53
iif) 51 iv) 100
e) Small scale industryis industry.
)  Labourincentives iiy = Capital incentives
i) iandii iv)" None of these
f)  Sick Industrial Companies Act - (SICA) is established on .
) 1990 i) 1985
i) 1991 iv) 1995
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is a type of factor in service sector.
i)  Agricultural i) DBank
i) Milk business iv) Sugarindgslry
Single Window scheme was started for the increasing export
i) Tea | ii) Agro-product
iii)  Cotton mill ' iv) Foodgrain
Tourism Industry earns
i)  Clothes - ii) Foodgrain
1if) | Foreign currency iv) None of these

Indian Railway is the b[ggest business owned by

i)  government i) prlvate sector
ili) co-operative sector ey w) none of these

Q2) Answer the following questlons in detall

a)  Explain the changing role of agrlcultural in Indlan Economy'; i [10]
Explain the features of Industrial Policy 1991 | Rl

b) Importance of IT Industry in Ind’ian‘_Ecdnd’_Ifrjl'yJ',f"‘"w,-, X 12 ets [10]
Explain the India's foreign ‘trade‘volun'le and'c.'on‘.ipc;'s;itfidn. |

Q3) Write a short notes (any four) | L } . e [20]

a) Causesoflow agrlcultural productmty ;

bj Problems of cottage and SSI ;

c) Industrial sickness _ X

d) Importance of Transport.

e) General Insurance Corporation

f) Need of Zﬁd Green Revolution
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